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~6.2 Exercises — Verifying Trigonometric Identities
 Verify each identity, EVYENS oniv!!

11 sintecsct =1
12. secycosy = 1

13 csc? x
2 = cscx se
cot x <2
sin?t
14, —— = cos?
tan? t £

'15. cos? B —sin? B =1 — 2sin2 B
16. cos? B —sin? B = 2 cos? B — 1

17. tan? @ + 6 = sec2f + 5

18. 2 —csc?z =1 — cor?z

19. (1 + sinx)(1 — sinx) = cos? x

20. tan?y(csc?y — 1) = 1 .

283, sin'/?x cos x — sin*/? x cos v = cos® x/sin x

. secOx(sec xtan x) —sec? x(sec x tan x) = secSxtandx
. cotl — — xJesc v = sec x
2
- sec[(m/2) — x]
" tan[(7/2) — x]
cse(—x)
" sec(—x)
2 (1 + siny)[1 + sin(—y)] = cos?y

= secx

= —cot.x

cosx —cosy sinx — siny _

39, — -
5 sinx +siny  cosx +cosy
f tanx + coty
), ——— =tany t+ cotx
B tan x cot ¥
E° cos@
4], ————— =secf + tan @
w1 1—sin@

2. (sec @ — tan @)(csc § + 1) = cot @

43, sinz(%;-,r - .r) +sinx =1




